
1)

A = 31  B
Find the Angle at side B.

Answer: ____________

2) Increase 74 by 2/37

Answer: ____________

3) 26/7 x 59/10

Answer: ____________

4) 24 x (-30)

Answer: ____________

5) 26 x 1000

Answer: ____________

6) 54.7 - 13.5

Answer: ____________

7) Find area of triangle 
s = 32 m

Answer: ____________

8) $370.00 earning 5% compound 
interest for 6 years.

Answer: ____________

9) Solve 6d2 - 15d + 6 = 0
Round your solutions to 1 decimal 
place.

Answer: ____________

10) A number was shared in the ratio 
1:6. The smaller share was 27. What 
was the larger amount?

Answer: ____________

11) 226.38 ÷ 14.7

Answer: ____________

12) (-28) x (-30)

Answer: ____________

13)
Find the next three numbers in 
the sequence
125,120,600,595,2975,2970,14850__,__,__

Answer: ____________

14)
Find the next three numbers in 
the sequence
125,120,600,595,2975,2970,14850__,__,__

Answer: ____________

15) 6 x 2 ÷ 18 + 7

Answer: ____________
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16) Factorise q2 + 12q + 20

Answer: ____________

17) Round 12.8070 to the nearest whole 
number.

Answer: ____________

18) Find the range of the following set of data:

0.3, 10, 0, 5, 9

Answer: ____________

19) 88.5 + 57.9

Answer: ____________

20) 97 - 80

Answer: ____________

Total: ___ / 20
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Answers:

1) 149 2) 78 3) 166/7 4) 5) 26000 6) 41.2 7) 443.40500673763m

8) $495.84 9) d = 2 or 0.5 10) 162 11) 15.4 12) 13) 14845,74225,74220, 14) 14845,74225,74220,

15) 16) (q + 2)(q + 10) 17) 13 18) 10 19) 146.4 20) 17
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